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QUESTION NO: 1

In OpenShift Container Platform, what is the smallest compute unit that can be defined, deployed, and managed?

A. Image

B. Project

C. Pod

D. ReplicaSet

ANSWER: C 

QUESTION NO: 2

During the upgrade of Business Automation Insights (BAI), one of the components can be restarted based on a checkpoint 
or savepoint.

Which component of BAI uses checkpoints and savepoints?

A. ElasticSearch

B. Kafka

C. Kibana

D. Apache Flink

ANSWER: A 

QUESTION NO: 3

What are the two aspects to consider when adding users to Cloud Pak for Business Automation?

A. Certificates

B. Permissions

C. Roles

D. Teams

E. LDAP

ANSWER: B C 
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QUESTION NO: 4

Consider a scenario that starts with a case A that instantiates a Business Automation Workflow B which, in its turn, invokes 
an Operational Decision Manager (ODM) rule C.

When looking at the Business Automation Insights events emitted for this sequencing, which two statements are true?

A. In the events of the case A, the trace-id element is set to null.

B. The parent-trace-id of the workflow B is set to the trace-id of case A

C. In the events of the case A, the parent-span-id element is set to null.

D. The trace-id elements of all events in the sequence have the same value.

E. The parent-span-id element of both the workflow B and the ODM rule C have the value of the span-id
element of case A

ANSWER: D E 

QUESTION NO: 5

Which two use cases are best suited for decision automation (Operational Decision Manager)?

A. Collecting business logs

B. Capturing insights from images

C. Eligibility determination

D. Approvals automation

E. Creation of dashboards

ANSWER: B C 

QUESTION NO: 6

What are the two things that can be used to submit documents stored to FileNet Content Manager for Content Analyzer 
processing?

A. Business document triggering

B. Sweep job

C. Check-in event handler

D. Content federation timer

E. Case Monitor task
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ANSWER: B C 

QUESTION NO: 7

What can be used to extract entities, keywords, and relations features from documents?

A. Knowledge Catalog

B. Natural Language Understanding

C. Watson Studio

D. Watson Explorer

ANSWER: B 

QUESTION NO: 8

Which component can automation developers use to access different authoring environments?

A. Automation Service Portal

B. Process Portal

C. Content Navigator

D. Business Automation Studio

ANSWER: D 

QUESTION NO: 9

Which two of the following does FileNet Content Manager support for defining an object store?

A. HDFS

B. Elasticsearch

C. Storage device that supports the S3 API

D. Key-value store

E. Database

ANSWER: C D 
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QUESTION NO: 10

Which statement is true about the integration between Robotic Process Automation with Automation Anywhere (RPA) and 
Business Automation Workflow (BAW)?

A. Changing the mapping of the robotic task in BAW does not affect the integration thanks to the decoupling of the 
components.

B. A bot definition is generated from the activity in BAW to drive the integration.

C. BAW does not support queue based setup of bots since it has no queuing abilities.

D. Teams should not be used for task assignment on RPA tasks since they are handled differently than human users.

ANSWER: B 
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